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PART-A / @vs—-A

Directions (Questions 1-20): There are 20 Multiple Choice Questions (MCQs), and each question
carries 1 mark. All questions are compulsory.

3T (w2 1-20): ¥ 20 5 Sefeas W (MCQs) &, ST T3 | 37 1 2| avft et sfeamd €

1. Which is the oldest form of composition of Hindustani vocal music?

(1) Tappa (2) Dhrupad (3) Thumri (4) Khayal
Tt TR FTiYa) 2T TarT ohT Heardl T & -7 27
(1) <o (2) g9 3) g (4) &

2. The Maori are the indigenous people of which nation?

(1) Indonesia (2) Ghana (3) Columbia (4) New Zealand
ISR forw 391 o ot et €2
(1) MR (2) =T (3) Siciferr (4) =Siete
3. World's oldest cave painting was recently found in which country?
(1) India (2) China (3) Indonesia (4) Japan
gl sht Fer QO T T e € H fopw qwr et @2
(1) wRd ) = (3) SR (4) STAH
4.  'And the Show Goes On' was a documentary made by the BBC on which Indian filmmaker?
(1) Mrinal Sen (2) Raj Kapoor (3) Satyajit Ray (4) Dev Anand
T 3 TN N A o el Tt formiferm o sftefet g T 71 wen St off?
(1) Jomer & (2) TS FY (3) Heasiia ¥ (4) 3T AT
5. The phenomenon that enables us to perceive motion is known as
(1) Entopic phenomenon. (2) Persistence of vision.
(3) Newton's first law. (4) Galileo's law of motion.
TE T ST 6 Tt B ST KO B FeTH ST 8, FEcArd &
(1) TSI 52T | (2) gfe & e |
(3) =g 1 T2 A | (4) Nefiferan st e =1 fem |
6.  Dogri is primarily spoken in which State/UT of India?
(1) Punjab (2) Meghalaya
(3) Gujarat (4) Jammu & Kashmir
ST T Y § WA % o T2/ ST SewT 7 st STt 87
OREIES (2) HeTET
(3) TS (4) ST 3R HIHR
7. Leshalaptu is a folk dance of which Indian State?
(1) Nagaland (2) Kerala (3) Karnataka (4) Goa
TARMTATI] Fohe T T T ARl 27
(1) AT (2) A (3) FAeH (4) T
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8. What is the full form of AR which is fast becoming popular in the entertainment industry?

(1) Actual Reality (2) Arterial Realism

(3) Artificial Realism (4) Augmented Reality

T 31T T 01 & 7 & ST AR ST H oSt & @iensr 8 11 22

(1) s fafad (2) seliaa fafasn

(3) sfgfpRe fafasa (4) TS fafadt
9. Which of the following States has the longest coastline?

(1) Andhra Pradesh (2) Kerala (3) Maharashtra (4) Tamil Nadu

fafafaa 3 @ fora s it aevar e et 32

(1) 3T et () A (3) HEWTSZ (4) qfHeTg
10.  Which of the following is used in writing pencil?

(1) Graphite (2) Silicon (3) Mica (4) Phosphorus

foree arett Uit 7 fFreferfiaa & & foreeht SR foram ST 82

(1) UBrEe ) fafesm (3) HISHT (4) BEHRH

11.  Which was the most visited centrally-protected ticketed monument by foreign visitors, as per the
Indian Tourism statistics 20227

(1) Taj Mahal (2) Red Fort
(3) Group of monuments at Mamallapuram (4) Qutab Minar
WA RieT Fiftemehl 2022 % FFaR, forasft sniqent ST et siferes IR foram ST e shsitr wiwferd feare amen
T i §T A1?
(1) drsHee (2) e fehet
(3) WHTAYH H THIEH T T8 (4) Fq FHR
12. NESTS is an autonomous institution working under which Union Ministry?
(1) Ministry of Education (2) Ministry of Tribal Affairs
(3) Ministry of Culture (4) Ministry of External Affairs
NESTS forer gl BT 3 STl sh1 ot aTefl Teh T ST 87
(1) Tarear domera (2) ST AT ST BT
(3) HEHId HATAT ORELHIEEINE]

13. The Indian Space Research Organization has collaborated with which country to explore the Venus
and the dark side of the moon?

(1) USA (2) Japan (3) Australia (4) Russia
TR STfer STTHUT e = 305k S =AZAT o ST q&T T Iaq1 T o6 FoTe fope 921 o @rer g forarm 22
(1) IgET (2) ST (3) sfregferan (4) &
14.  Who among the following prefers to appear on screen in his own directorial work.
(1) Alfred Hitchcock (2) Fransis Ford Coppola
(3) Akira Kurosawa (4) Majid Majidi

freafafga o @ o ar fdse 2 | fSmeht s1ot fhent § S7ht U gietes femms et 71
(1) Tehs feaenish (2) PR B HEAT  (3) FH FAEET (4) Hsfig Tsiidt

13/()2
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15. Which of the following statements is not correct.
(1) The President of India is the head of government
(2) Writ Petitions can be field at the Supreme Court and High Court
(3) Access to drinking water is part of right to life
(4) International Peace is an aim mentioned in the constitution of India

freferiiaa et & @ 6 a1 w72 22

(1) VT o TS TR o LT ¢ |

(2) Tz ot gatea =mane™ 37T 359 AT | &S il ST Hehdl | © |
(3) o7 =T T Sfiae o AR T I R |

(4) ST Srifa et wferm § sfeafad wr 32w g |

16. What is the meaning of the word 'Moonlighting'?
(1) Lighting technique used by cinematographers.
(2) Doing additional second job.
(3) Driving at night.
(4) Enjoying the moonlight.
T 3753 T 37 7T 27
(1) TEETITR ST U=t sl ST et Argfe deoieh |
(2) AlCTCeh ZHT HTH AT |
(3) Td T Tt =A™ |
(4) =ieT T IS AT |

17. The Article 51A(h) in Indian Constitution is about
(1) to develop the scientific temper, humanism and the spirit of inquiry and reform.
(2) freedom to practice and propagation of religion subject to public order, morality and health.
(3) federalism as part of the basic structure.
(4) official language of the country.

R EfTe o 377588 517(TH) I H 8

(1) AT e, ATararaTe 371 Siter 371 Geam ot 1T forehfera o |

(2) WSS SHaET, Afdehar 3T ETEe o SF=tid g hT JTET0T S T=R L i e |
(3) THETE AT g o few 2 |

(4) 337 HT TSI |
18.  FIH Men's World Cup 2023 Hockey Final was played between which countries?

(1) Australia vs New Zealand (2) Germany vs Belgium

(3) Argentina vs Netherlands (4) Spain vs South Africa

FIH Men's World Cup 2023 fht Hrget foh Su11 o sfier ©er T

(1) FEfor iR =sficte & = (2) ST SR sifestaw & sfi=r

(3) AT IR Hrewets F &fr= (4) T TR afeqor o7shiehT o st
19. Which of the following is Motto of Paralympic?

(1) To touch the sky with glory (2) To free the oppressed

(3) Spirit in motion (4) Service before self

frferfaa & & =6 a1 fifuss = sTest are 82
(1) TTAT R R (2) ZhI 3 SHTES (3) whifie g meE (4) Gfag ot B ah

20. Which is the happiest country in the world according to the World Happiness Report 20227

(1) Switzerland (2) New Zealand (3) Finland (4) Netherlands
g gl dTe 2022 o SFAR T 6T Hedl QT a3 1 &1 2?2
(1) feagsrets (2) =sfrcts (3) fecte (4) et
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PART-B / @vs-B

Directions (Questions 21-35): These questions are Subject Specific. There are 15 Multiple Select
Questions (MSQs), and each question carries 2 marks. Each question has four answer options and
question may have one or more than one correct answer options. All questions are compulsory.

Fder (rar 21-35): 3 w1, forwr farfRe ) 5o 15 w78 AHfeae =@ T (MSQs) 2, 3 TIRIF W4, 2 31 1 81 T T %
IR TR forehed & TR 9 o ek AT Uk © 1%k, Tl 39 foehed 21 dahd 2| it wer 1famd 2

21.

22.

23.

24.

25.

26.

Which of the following is/are professional colour(s) grading software(s)?

(1) Nucoda (2) Davinci Resolve  (3) Baselight (4) Cantar x 3
Frfafad o @ = gya T ol AT TR 8/82

(1) =IIeT (2) s fees (3) AT (4) FTx 3
Exposure can be controlled by

(1) f-stop. (2) shutter speed. (3) focal length. (4) view finder.
TSI o e fopa St har @ -

(1) TH-ET (2) wrex (3) PIheT o=t (4) FFES

The sky looks blue because

(1) blue has the shortest wavelength. (2) of scattering of light.

(3) the colour temperature of blue is 5600 K.  (4) red light has the shortest wave length.
3TTehTeT e feereh T oS gar §

(1) e qo8 =9 T R | (2) RIS T forara

(3) It T He TR 5600 K (4) AT T G FHH I &

Which of the following are present in the human eye?

(1) Rods (2) Cones (3) Central fovea region (4) Vitreous humor
frfafiad o & = o= 1 1fE o femm 8 2

(1) T (2) ®FE (3) Hgawifamr sl (4) fafezagpm
Fill light is used to

(1) manage the contrast. (2) separate the subject from background.
(3) litup the background. (4) alter the colour.

fohet @Tge T SRT foRarT ST &

(1) FHeTEE T Jaiferd | (2) foreer =T qBvfi & 31T T |

(3) IBVM T TR LT | (4) 1T |

Which of the following is/are correct?

(1) When we add all Red + Green and Blue pigments we get black colour.

(2) When we add all Red + Green and Blue light we get white colour.

(3) The dimmer the light, the wider the iris of our eyes become.

(4) Digital sensors inside DSLR cameras produce image as silver halide emulsion makes a latent
image.

ﬁmﬁ%%rﬁﬁaﬁtrmféﬂﬁ%/%?

(1) toT &0 Feft ATet + = 3 et T S 2, 1 2 et I7 firetar )

(2) ol &\ FufY AT + B I AT Tehrer S & o g6 he 7 firerar 2

(3) ThTeT ST He BiaT ], 29T ATt Y e ST & =it 2 S R

(4) STATASR K o 3fex feforeet Tat s 3ca=1 o & Hifeh fHeer Tei1se SHeIH U TH Bl ST |

21/E/XXIII/IIT 5



27. When corrected to a normal image, under-exposure results in

(1) more apparent grain. (2) less apparent grain.
(3) richer blacks. (4) lower contrast.
el Uk T e § G R ST 2, a1 Stet-uwdrsi & aftons gt &
(1) 3Hferp sree I BECE T
(3) fer st (4) FH T
28. A plain mirror gives a/an
(1) virtual image. (2) real image.
(3) image flipped about horizontal axis. (4) image of the same size as the object.
T & i AR/ |
(1) ATt s (2) aTEdfees B
(3) Sfar afast 3187 & TN T foerd et 2 (4) & % GH SRR 1 Ffforr

29. A camera lens focused at 100 m means,
(1) the focal length of the lens is 100 m.
(2) the distance from the camera sensor and the object to be photographed is 100 m.
(3) everything beyond 100 m will be in focus.
(4) object at 100 m distance and same area in front and behind the object will be in focus and rest of
the area will be out of focus.
100 T2 W s Teh AL T T 379 2,
(1) o st Brsheter= g 100 HIZ 2
(2) AT HET AR BT Referar areft oeq @ gl 100 Hiet )
(3) 100 X & TR |l %3 Hlwd H E
(4) T 100 HIT T g o 2 3R ] o ATT A e GHIT &5 B ST 7T I &1 ok o ATl 20|

30. A painter chooses a vertical canvas for painting portraiture. Why is it that cinema screen is always
more in width than height?
(1) Composing portraiture in vertical canvas curtail unnecessary space.
(2) Human eyes give wide view in horizontal space than vertical.
(3) Painters use a wide canvas when they paint a landscape.
(4) Watching cinema in vertically tall frame will cause discomfort to the viewers.

T Tormehrt ot ST o ToTT U cierara sheiamet <[ar a1 Ut i & fof Toermm o1 vt gem s & S1freh =iter grar &2
(1) SEaTer FTamd T SHTITH TUH T hld! T ¢ |

(2) A& 7 HeATER T JoT § st ©= # foeqa g ad 2

(3) e we uftgyar =t fafia sed amer ueh foreqa Shame ol ST hid € |

(4) TomT A1 o ool S § @ | iRt ol ST 80 |

31. The colour of green chillies under sodium vapour lights will appear

(1) more enriched. (2) same.

(3) muddy brown. (4) there will be change in colour.
Tifea I age | &1 T o &1 fowms am

(1) 3R aTE (2) A

ORESEIE] (4) T ufterd= g
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32.  What shape(s) can be created out of the shadow of the cube on a plain wall which is at right angle to

the light rays?

(1) A rectangle (2) A square (3) A hexagon (4) A circle
RIS ToRTUTT o THERIVT ATelt AHAE IR T o Sl ST © hiH-H TR sHT8 ST dehc] 87

(1) T 3 (2) TR (3) T T (4) Thad

33. Statement X : Purpose of using spotlights on the performers on stage is to reveal them.
Statement Y : Mixture of red and green beams of light produces yellow.

Statement Z : In the profile of a very old man in silhouette, one can see all the details of wrinkles
and facial features.

Choose the correct option(s)

(1) Statement X is True and Statement Y is True

(2) Statement Y is False and Statement Z is False
(3) Statement Z is False and Statement X is True

(4) Statement Z is True and Statement Y is True

A X: H T FHATHRT T THEATSSH BT ST i 3BT 369 3¢ Tohe AT 2

YT Y : YT shT AT I &L Theott 3 forsyor & dieroe e e @

Ty 7: Tiege o Uk a5a ¢ ST o Ibrset #, At 3 =gt T fomarsil & @t foraor < o 2|
w1 forered/fospedi i FfT

(1) FAX TILAFHTY T 8

(2) FYT Y TAd & 3T FHYT Z TeAd &

(3) YT Z T & 3T HYT X T 2

(4) FITZqA T AXNFH Y T ©

34. 'Depth of Field' can be controlled by

(1) Shutter speed. (2) Aperture.

(3) Focal length. (4) Camera — subject distance.
ee 3T i i FRIf foram ST weRaT ©

(1) X ETs (2) IR

(3) HIhd A (4) FT - G fewdy

35. What is clapboard used for?

(1) To give clues to the actor. (2) To indicate shot numbers.
(3) To mark scene numbers. (4) To sync picture and sound.
FNuaTE foereh foTa ST foma Trar 22

(1) ST 1 GOT < (2) Tite w@& 3 = & o

(3) T TE & fafegd i & fog (4) T 30T el 1 fish o & forg
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Partial Marks: +1.5 If all the four options are correct but ONLY three options are chosen;
Partial Marks: +1 If three or more options are correct but ONLY two options are chosen, both of which are correct;
Partial Marks: +0.5 If two or more options are correct but ONLY one option is chosen and it is a correct option;
Zero Marks: 0 if none of the option is chosen (i.e., the question is unanswered).
Negative Marks: —0.25 In all other cases.

7. In case of ambiguity in translation, English version will be deemed authentic. Rough work to be done on Question
Booklet.

8. Objective type Answers are to be marked on the OMR Answer-Sheet, which is provided separately.

9. Use only Blue/Black Ball Point Pen to darken the oval(s) for answering.

10. Once oval(s) is/are darkened as answer to the question, it is final. Answer option(s) once darkened cannot be changed.

11. Appropriate civil/criminal proceedings will be instituted against the candidate taking or attempting to take this Question
Booklet or part of it outside the examination hall.

12. The right to exclude any question(s) from final evaluation rests with the testing authority.

13. Do not seek clarification on any item in the question booklet from the test invigilator. Use your best judgment.

T ST B ¥ e S5 sk o et 3T SHATTHIAR 2M1e TT STawrsh SehrT il
Y- [ sht AT 60 e 21 1 JRaThT Wie o qid S8 SHehT qUidT shl SiTel i
Y- (WTT-T S AAT-aAT) 7 35 T8 T o 9 3
WRT-U § 20 T 1 T3k 99 o 91 foaved (1), (2), (3) 3R (4) B 37 9 foreredl § & el Tk &€ et ST 81 TAh
T o [TT HEl I oh AT forehed o =2 i
5. W W o I kT Hedieh (fotfiad e AIST o SEw o St
ot 3t +1 afe et @t foreped A7 ™ B;
I ;0 AT his Wt fershe T =1 T @ (el e g )
THHS Feh: -0.25 =1 ¥l et H)
6. TS W 15 721 &) I&H 99 & IR fahed (1), (2), (3) 3R (4) 81 37 =R faehedl § & T A7 Tk F ATk Tl 3w
2 e w1 o for, (adt) ot 3T (e & weifer foshed (fereredt) s =
frrferfiaa sfer ATSHT o SR STcdsh 951 o I T Fedieh T SITaT:
ot 3teh: +2 Afe Faa (ah) Tt fosmen(freredh) # g m R (3),
AT 3ieh: +1.5 AT IR forehied T2l & Qfehd At A1 foehed o T &
i1 Sieh: +1 A o1 =1 3Afereh fershed et € Hfeh sheret a1 forehied <[ T &, ST &HT Wl €
AT 37 +0.5 A a1 AT AN § AT e Tt & TIfoh sharet Teh forshed AT 1T 8 37 I8 Teh Wl fofshed 2;
[ 3k 0 AT =1 ot fersheq et <1 7T © (AT, T ST 2)
THRTHS Feh: -0.25 =1 ¥l wet 1)
7. 3TIATE H STEAEAT o HIHC H, SIS HEHTOT T TTHITOTR AT ST 52 TR 9 T e T 2|
8.  SRE I % I STH T WX TRl oY ST &, ST ST & ITTod 1T 1T &)
9.  IW e o [AIU SRR (3TV) i ST A o FoAT et Fiet/aTet sited 4TS U ShT ST |
10. I % W & &Y | Ueh a7 SFSHN (371) FT el T {1 a7 2, a1 I8 Afem 21 S forerey (forshedt) o1 Uk &R
AT F o A1 S&eT Ae| ST Hehl
11, 38 5 QREshT a1 59k foRell T bl oieT €1t o STet of ST A1 of ST 1 S L aTel SRR o foreg U
fafrer sty srfaret it smerh
12, Torelt off Sesr() =Rt 3T Fearioh | STeX S T SATRRI Tie e o T 2
13, S-gfeent o foreft <t we o wisier o wdterr ferdtereh & THETeRT 7 Hitl| 319 Heitae R o6t SR

Ll e

This Question Booklet is to be returned on completion of the test. / U<1&dT 113‘1 g W IT 9 gﬁﬂ’cﬂ dier 91
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